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BX-B
 fit

X   (gauss)

Residuals for File fit0018

Entries
Mean
RMS
UDFLW
OVFLW

          51491
 0.1095E-01

  13.98
  1978.
  1978.
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BY-B
 fit

Y   (gauss)

Entries
Mean
RMS
UDFLW
OVFLW

          51491
 0.5502E-02

  19.11
  1982.
  1982.

BZ-B
 fit

Z   (gauss)

Entries
Mean
RMS
UDFLW
OVFLW
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 0.2990E-01

  13.79
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BX-B
 fit

X   on horizontal midplane (gauss)

Residuals for File fit0018

Entries
Mean
RMS
UDFLW
OVFLW

           4681
 0.2220E-01
 0.9751E-01

  0.000
  0.000
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 fit

Y   on horizontal midplane (gauss)

Entries
Mean
RMS
UDFLW
OVFLW
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 0.1714E-02

  5.215
  1028.
  1028.

BZ-B
 fit

Z   on horizontal midplane (gauss)
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(BX-B
 fit

X)/BX   on horizontal midplane (%)

Residuals for File fit0018

Entries
Mean
RMS
UDFLW
OVFLW

              0
  0.000
  0.000
  0.000
  0.000
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 fit

Y)/BY   on horizontal midplane (%)

Entries
Mean
RMS
UDFLW
OVFLW

           4530
 0.1273E-03

  2.539
  692.0
  692.0
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 fit

Z)/BZ   on horizontal midplane (%)
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Mean
RMS
UDFLW
OVFLW
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